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TS 2= TS 2 = 1572
£ & i1 & 1,746 1,840 0.9 1,880 1,845 0.9
= bt} hi:| &® 65,391 61,356 31.4 67,268 62,827 31.9
iy £ i ki 1,196 1,174 0.6 1,134 1,059 0.5
& N i1 = 17 19 0.0 10 — —
Bl 124 ] = 1,644 5,200 2.6 1,559 4,506 2.2
m o® O£ B A = 28 29 0.0 23 20 0.0
E Hy il A 111,735 111,048 56.8 111,290 111,506 56.7
(SBEESHNEHES) (111,693) (111,009) (56.8) (111,252) (111,468) (56.7)
(OBZEBEFEHEE) (41) (39) (0.0) (37) (37) (0.0)
e HA B &= 14,400 14,604 7.4 14,580 14,773 7.5
E OE M B = — — — — — —
& = 196,160 195,274 100.0 197,747 196,539 100.0
CF) BptblIFESDERLETY
OHE - BEMARZRS (94 : FBF - %)
X N 22 3B R SERR23FE3RAE
% = [-157454 % B 12454
OB EE 64,390 32.9 65,732 33.4
| StEHNEES 57,612 295 59,076 30.0
EHMESE 125,653 64.3 126,279 64.2
SLEEEFEHES 111,009 56.8 111,468 56.7
SEZEEFEREE 39 0.0 37 0.0
Z O ftt 5,229 2.6 4,527 2.3
£t 195,274 100.0 196,539 100.0
EFEMHEES — — — —
= =t 195,274 100.0 196,539 100.0
OHEE-REMEEFIIRS (8 =B - %)
X % FR21EE Frk22FEE
EES [-1274:4 SERE =12454
B MEE 68,351 34.8 70,293 35.5
B 57,498 29.3 59,806 30.2
EH M EE 126,135 64.3 125,870 63.6
SHEEEENEEE 111,693 56.9 111,252 56.2
SEEEENEHFEE 41 0.0 37 0.0
Z D fi 1,672 0.8 1,583 0.8
= 196,160 100.0 197,747 100.0
EEMHES — — — —
= £t 196,160 100.0 197,747 100.0
CI) 1. RBMTES = YEFES +EBEES HITETRS HBNTES
2. FHMTES =THITES + THIES
B &M EHES FEABICHBEEICONRIRET H>EmEHNTHES
ZEIEAETEE  FBABBROHBENOZISEUCENIZH I DERENEES
OREERIREES (811 : BRMA - %) OB -SENRFEERES (841 : BREMA - %)
Frk22E 3 BFK SER23E3 AXK N R ER22E3BFK SER235E 3 AK
% = 12454 % B (10454 % B 1754 % & 397454
1l A | 166,520 85.2 | 167,754 85.3 = 8 60,831 31.1 | 62,732 31.9
& A 23,015 11.7 | 23,730 12.0 £ B S |134442 68.8 | 133,806 68.0
= B % B8 250 0.1 214 0.1 a 5t | 195,274 100.0 | 196,539 100.0
YN &= 5,487 2.8 4,839 2.4
& st | 195,274 100.0 | 196,539 100.0
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